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1. Namethe first Indian player born in Haryana

to secure world no. 1 spot in Badminton in
the year 2015.

(A) P. Gopichand (B)
(C) P.V.Sindhu (D)

P. Kashyap
Saina Nehwal

is a connectionless, unreliable
transport protocol.
(A) User Datagram Protocol (UDP)
(B) Transmission Control Protocol
(TCP)
(C) Both (A) and (B)
(D) None of these

3. When was the President Rule imposed on
Haryana for Second time ?
(A)
(C)

1969

(B)
1977

(D)

4. Which of the following districts of Haryana
has the highest area under forest cover
as per the 2011 Forest Survey of India ?
(A) Fatehabad (B) Gurgaon
(C) Panipat (D) Panchkula

1987
1971

5. If x and y are negative, then which of the

following statements is/are always true ?
l. X +y is positive.

Il. xy is positive.

lll. x -y is positive.
(A)
(©)

Il only (B)

(D)

| and Ill only

| only llonly

Ashok Mehta Committee in 1977
recommended for the establishment of
(A) Panchayat Samitj

(B)
(C)

Nagar Panchayat

Maha Panchayat

9/2019 (1) (E1)
arfzmsﬁaaﬁz:rﬁﬁ?ﬁqsmwmm
F T WA & 2R § 519 vget Raened

T A TR |
A) dt.mdEE (B) . FvEw

) d..fiy (D) uEH IeaT
Th FAIRIed, v
fEed T 2 |

(A) TR ST Wieihiet (UDP)

(B) TFEMNM HId Tishia (TCP)
(C) (A) ¥R (B) qHi
(D) 99 ¥ IS Tl

- 3. Bitaron & Tgaf e gEd AR @ ARy gen ¢
(A) 1969 (B) 1987
(C) 1977 (D) 1971

2011 & R 37 T & AR ghamon
F1 -1 FSrer gatfes sarsia & ?
(A) FAEETE (B) TN

(C) urfiug (D) Ul

afe x 3R y womenss €, @ Fefafed § @
HH-T1/Q T GRT g 2 /8 ?

l. X +y EATHF 2 |
Il. Xy &=Teq © |
. X -y &= T § |
(A) = Il

(C) e |

(B) e | 3 )
(D) haa I

1977 ¥ 319l Near aify, 3 $
TTYAT o forg argwian <t of |

(A) =TI afafa

(B) TR YEEd

(C) W=l YarE

6.

(D) Mandal Panchayat
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(D) Y Y=g
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7. The design of Indian National Flag was

10.

11.

12. Which place is called the highest battlefield

C{(’)INDIRESULTE 3
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adopted by Constituent Assembly on
(A) 24" January, 1950

(B) 26" November, 1949

(C) 22 July, 1947

(D) 27" December, 1946

The Executive Officer of Panchayat Samiti
in Haryana shallbe underthe administrative
control of the

(A) Development Officer
(B) Chairman

(C) President

(D) Commissioner

Which of the following is the composition
of Banabhatta ?

(A) Sur Sagar

(B) Bhagavad Geeta
(C) Geetha Ramayan
(D) Harshacharita

Which of the following State shares its
boundary with Haryana ?

(A)
(B)
()
(D)

Mizoram

Sikkim

Arunachal Pradesh
Himachal Pradesh

Kailasa temple at Ellora was built by
(A)
(B)
(C)
(D)

Dhruva
Amoghavarsha — |
Krishna — |

Krishna — lll

in the world ?

(A) Aksai Chen

(B) Kargil

(C) Siachen Glacier

«(D) Ladakh

YOUR SUCCESS PARTNER

10.

11.

12.

g 9/2019 (1) (E1
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Gferer a9 g7 9 o TSN €31 1 916
1 STYFTIT T |

24 a1, 1950

26 FI, 1949

(C) 22, 1947

(D) 27 feur, 1946

i 8 damad aftfa & sy After

 F vy e E g

(A) Torepma Tt

(B) A&

(C) Trgufe

(D) AFH

Prforfad § & SiH-dl sTorg il TR 7

(A) WH

(B) TagIIaT

(C) it THET

(D) T

fr=fefad § @ wH-a1 Usg gRamon & 9y

7t HiwT wrEm @ ¢

(A) forsrm

(B) b

(C) STRUTES 9

(D) femmeet e

TART 1 helT® AT
ST TR |

(A) g9

(B) 3THIEEN — |
(C). FT -

(D) FST—1Il
-1 foRa &1 Tl o1 JSTUA R 7
(A) 7T fom

(B) HRAE

(C) Tt _fReR

(D) wE™E

(A)
(B)

ECY
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13. Half of a byte is called a 13. T dl5¢ ¥ o 9T I ET|
ST g |
(A) Byte (A) T
(B) Word size (B) IS 9Es
(C) Bit ©) T
(D) Nibble (D) fese
14. Which of the following architects planned | 14. freforfaa o @ forg AEghR A =i H R
the City Museum in Chandigarh ? HUETe St AT SR 7
(A) Renzo Piano (A) i
(B) Norman Foster (B) HTHT BT
(C) Frank Lloyd (C) Tk ATIS
(D) Le Corbusier (D) it FIGRRR
15.  Which of the following is not the part of the | 15. BR&TOT Jeraed! Tt Af¥rfaH, 1994 &
mandatory Committees to be formed by I X % FIJIR Y=d T §RT F91Y
the Panchayat Samiti as per Chapter X of ST areft e afify 1 arr el
the Haryana Panchayati Raj Act, 1994 ? Yo m-qragfa ?
(A) Finance, Audit and Planning ) :
Committee (A) Tor, o e 3k i
(B) Social Justice Committee (B) wmIRIeh =g giufy
(C) General Committee (C) um= wfafy
(D) Health and Welfare Committee (D) T T T gify
16. A is a rule concerning what |  16. o fam @, st 99 Tefg 2
kind of data can be entered in a cell. T e TR % o1t o 99§ ghre o
(A) Data-validation rule T Hehd § |
(B) Boundary value :g; B aﬂll TSI &
(C) Format rule (C) T T
(D) Transpose rule (D) gmtﬂﬁr el
17. Section 164 of Haryana Panchayati Raj [ 17. gi@men qemadt ust atferfem, 1994 it
Act, 1994 deals with which provision ? URT 164 Y FIH-GT YEUH TS q 2 ?
(A) Preparation of list of voters (A) HaRTaTS hY gt TR FAT
(B) Making false declaration B) Sl HISUT ST
(C) Electoral division (C) g favreH
(D) , None of the above (D) 3uged # & IS Tl
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18. Choose the most appropriate deséription

Fly, Bee, Ant
(A) Termite (B) Insect
(C) Cockroach (D) Spider
19. ‘Establishment and Constitution of
Authority’ is mentioned in which Section of
Haryana Panchayati Raj Act, 1994 7
(A) Section221 (B) Section 220
(C) Section218 (D) Section 219
20. Which of the following Indian Government
Institutions recently introduced the ‘Meri
Saheli’ initiative that will focus on safety of
women.?
(A) National Vigilance Commission
(B) National Commission for Women
(C) Indian Police Service
(D) Indian Railways
21. Asia’s biggest garden in Haryana devoted
to rare and endangered species of cacti
and succulents is located in
(A) Sonipat
(B) Mewat
(C) Panchkula
(D) Yamuna Nagar
22, Where Is the oldest rallway station of
Haryana, which was built in 1873 ?
(A) Hansi (B) Rewari
(C) Sirsa (D) Ambala
23. Which district of Haryana has the lowest
literacy rate ?
(A) Mahendragarh
(B) Rewari
(C) Bhiwani
* (D) Mewat
Y,
#NoiResuLTE

about the following three words.

. 9/2019 (1) (E1)
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18. Fr=ferRaa o7 wreet & forq wer@ Suge faera

19.

20.

21.

22,

23.

M |

TaREt, wyAeRet, =fidl

(A) e (B) i

(C) ferereret (D) TSI

g Jemadt T FfYfiam, 1994 Ht
farg B “sTfRreRtor i TR 3R FEAT
Ifcefaa g ?

(A) HTRT 221 (B) W1 220

(C) umI218 (D) 219

T g ) Frerfafad § @ fora ger
3 Hfenedt it geem W eE 3 F g Al
TRef yee Y geT & H ARy fRan 8 7
(A) TS Ferehal TN

(B) TS afea mnT

(C) e gferd &t

(D) W &
ATEA 37 WeR gaii Y foRer IR TR
yerfea & fore aoffa ufirn = ge@ =t
Ff ghEmo & AfRae |
(A) ®Hua

(B) Wama

(C) wwen

(D) IGTTTR

BRATON 1 FaId GUAT 7 RN FEf 8, S
1873 H &1 T 7

(A) i (B) e

() Ty (D) 3T=TeT

TRATOT 1 G HH I&RAT STt e
F-TR?

(A) TRETS

(B) @St

(C) fiart

(D) HeTd
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24,

25.

26.

27.

28.

29,

30.

31.
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In which year did Bangladesh attain
Independence ?

(A) 1961
(C) 1947

1948
1971

(B)
(D)

The Ottu barrage in Haryana is situated on
which river ?

(A) Sahibi (B) Yamuna
(C) Ghaggar-Hakra (D) Tangri

Select the number which is different from
other three.
(B) 12

(A) 24

(C) 48 (D) 59

Which district is declared as 22" district of
Haryana ?
(A) Nuh

(B) Charkhi Dadri
(C) Palwal

(D) None of these

Three inscriptions of ruler Vigraharaja - |V
is mentioned in which Pillar ?

(A)
(B)
(C)
(D)

Pillar of Vijayanagara
Pillar of Topra

Pillar of Hoysala
Pillar of Pallava

‘Bundestag’ and ‘Bundesrat’ are the two

Houses of Legislature in
(A) Belgium (B) Denmark
(C) Germany (D) France

Which of the following is not a Division
(Mandal) of Haryana ?
(A) Hisar (B)
(C) Gurugram (D)

Who founded the city of Faridabad in
Haryana ? :

(A)  Raja Nuhar Singh

(B) Malik Mahdud Khan

(©)  Sheikh Farig

Rewari
Rohtak

iiiiiiiiiiiiiiiiii

24, WY forg Y # TIH garT ?

(D) * Jahangir
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(A) 1961 (B) 1948
(C) 1947 (D) 1971
25, g&awﬁaﬁgéﬂa%aqﬂm@:a%?
(A) Wt (B) g
(C) ¥R-gHT (D)
26. 9% G&AT YT S T I 4 T & |
(A) 24 (B) 12
(C) 48 (D) 59
27. wH-a1 e shamn #7 223t Riem 9ife
fharmr 3 7
(A) T (B) = el
(C) uUdaw (D) 99 & ¥ 7
28. TS foIETST — IV & o Riedg g @
qg?
(A) fosmrR by
(B) 9wy
C) TrEs Wy
(D) Uoer Wy |
2. R Ik R 7 frenfor &
T |
(A) Sfem (B) e
() s+ (D) wiw
30. T H & H- heon  tiey ey &
(A) fear B) Y&
(C) T (D) Vgaw
31. gRamn # wTee e Y T Ry 6 ?
(A) TS IER fiw
(B) wfcTeh Hege WH
(C) 3@ wiE
(D) SRR
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33.

34.

35.

36.

37.
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Equal volumes of all gases under the
same conditions of temperature and
pressure contain equal number of
molecules. This is
(A) Dalton’s law

(C) Charles’ law

(B) Avogadro’s law
(D) Boyle's law
Which of the following is lowest unit of
Panchayati Raj in Haryana ?
(A)
(B)
(C)
(D)
How many Municipal Corporations are
there in Haryana ?

(A) 19
(CY: &7

Gram Panchayat
Taluk Panchayat
Zila Parishad

Block Panchayat

(8) 10
(D) 20

A person borrows Rs. 5,000 for 2 years
at 4% p.a. simple interest, he immediately

. 1
lends it to another person at GZ % p.a.

simple interest for 2 years. Find his gain in
the transaction per year.

(A) Rs. 150 (B) Rs. 167.50
(C) Rs.11250 (D) Rs. 125

If GYMNASIUM iswrittenas NTJRBMNXH,
using the same code COMPLAINT can be
written as

(A) EJNNDOPQT
(B) FTYZAAJJK
(C) DNNOMZNMU
(D) UMJZMONND

Who composed ‘Amritvani’ in Haryanvi
language ?

(A) Guru Gorakhnath

(B) Sant Garibdas

(C) Jetram

(D) Raja Ram Shastri

uuuuuuuuuuuuuuuuuu
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32.

33.

34.

35.

36.

37.
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YOUR SUCCESS PARTHNER

A 3R grE h gaE gRfeafaat | a4t
A4} % THM TH! # gt i FHE TS
e | TE ]

(A) e H Em (B) waNIg &l I
(C) =ed o1 frm (D)  siTae I

Arefafaa § @ S-dt sfEmon § g=m=dt
s 1 gl e g @ 7

(A) TTH 9=Ed

(B) dTeqeh =ad

~(¢) TS ufme

(D) S FETId

gfamn § fraa AR fAm g 7
(A) 19 (B) 10
C) 17 (D) 20

e e 2 aY & T 4% 9fd o aremor
SIS HI WA Rs. 5,000 SYR AT R | 98 Fid
38 2 3 fore wh a1 =R 6:1-%37%

Y YR SIS I A SYR S AT R | 3TF
39 31ater 7 g a9 @ g1a hifvr |

(A) Rs. 150 (B) Rs. 167.50
(C) Rs.11250 (D) Rs. 125

I GYMNASIUM s NTJRBMNXH
Tora mar 2, @ € e w5 vEm =
COMPLAINT &I foraT s |
(A) EJNNDOPQT

(B) FTYZAAJJK

(C) DNNOMZNMU

(D) UMJZMONND
BTl w9T F “srgaarof’
frem<h ? ]
(A) & TIREHT

(B) ¥d Tise™

(C) Sm

(D) TSI U It

G
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38.

39.

40.

41.

42,

43.

44,

If the position of the first and sixth letters of
the word ‘BENEFICIAL’ are interchanged
similar the positions of the second and
seventh letters are interchanged and so
on, which letter will be third from the right
end after rearrangement ?

(A) F (B) N
© C (D) E

Total area of Haryana is
(A) 44212 km? (B) 22312 km?
(C) 33212km2? (D) 34212 km?

In which year the Indian Institute
of Management (lIM) Rohtak was
established ?

(A) 2009 (B) 2001
(C) 2011 (D) 2013

What is the de Broglie wavelength of
an electron, whose kinetic energy is
120 eV ?

(Given : m_ =9.11 x 107 kg,
h=6.63x 10 Js, 1eV = 1.6 x 107? J)

(A) 100 nm (B) 0.5nm

(C) 0.8nm (D) 0.112nm
Which country is not part of the Indo-
Pacific Quad grouping ?

(A) US (B) Indonesia
(C) Japan (D) India

The acronym DOS stands for
(A) Diskless Operating System
(B) Driver Operational System
(C) Disk Operating System

(D) Driver Operating System

Which is the world's deepest lake ?
(A) Lake Baikal (B) Lake Malawi

(C) Lake Victoria (D) Lake Kivu

uuuuuuuuuuuuuuuuuu

38.

39'

40.

41,

42,

43,

44,
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of g5 ‘BENEFICIAL’ T8¢t 31053 3y
o wor ongE § we e Sy
R 3i AT ST H T A & g
S 3R i +ft T T R g amg
3 qRedeRe % W18 AT B H A s
F-grEm ?

(A F BN

C) C (D) E
o 1 e BFE ¢

(A) 44212km?  (B) 22812km?

(C) 33212km? (D) 34212km?
TR FEET G (1IM) Tgaeh st T
frgad i gd ?

(A) 2009 (B) 2001

(C) 2011 (D) 2013

Rreeht TRt St 120 eV &Y, 36 e
B et alTestar FT R ? |

(fRm® : m, =9.11 x 10 kg,
h=6.63x 10 Js, 1eV = 1.6 x 107 J)

(A) 100 nm (B) 0.5nm

(C) 0.8nm (D) 0.112nm
D1 31 fg - i g (391
WRiftheh ) wopg e R 7

A) uE. (B) FEMRMET

(C) Sy (D) W&
Hidw ®9 DOs ¥ forg o 8 |

(C) Tt o
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45.

46.

47.

48.

49.

50.

In Haryana, HRDFA means

(A) Haryana Regulatory Development
Forest Administration

Haryana Rural Development Fund
Administration

Haryana Rural Development Forest
Administration
Haryana Registry Development

Fund Administration

(B)
(©)

(D)
If the letters of the word “NUTAN" are

rearranged alphabetically from right to left,
how many letters will remain in the same

position ?
(A) Two (B) Three
(C) None (D) One

The device that holds a disk is called a
(A) (B)
(C) (D)

(469 +174)* - (469 - 174) ¢ _
469 x174
(A) 295 (B) 643
© 2 (D) 4
Which Committee of the Panchayat Samiti
in Haryana perform fu nctions relating to the

establishment matters, communication,

building, rural housing, etc. 7

(A) Social Justice Committee

() Rural Development Committee

(C) Finance, Audit and Planning
Committee

(D)

General Committee
Who built the Surajkund lake in Faridabad
district of Haryana ?
(A) Raja Surajpal
(B) Raja Gurdit Singh
(C) Raja Siraj Dev

Disk Set Disk Drive

Disk Let Disk Bag

/'. (D) Raja Nahar Singh
@lNDlRESULTE
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45, o i, T, 37206, H waed ¢

46

47.

48.

49,

50.

(A) BRI Ve SaTTHE BITE

TSHRETH

(B) 2T Tl ST He TR

(C) EREToT Tt SAATHE It
LEEIE ]

(D) 2o R STATHE FS
TeffregeH

uﬁm*'NUTAN"%mmﬁﬁaﬂm%
Wﬁ&ﬁﬁﬂﬁﬂ?:m@ﬁﬁﬂlms
=t R a1er gaT foufe & @ 7

(A) @ B) I

(C) IS &l (D) T

P ) 0T Y AT SRR
FEI T2 |

(A) Te=Rde
) femre

(469 +174)> — (469 -174)° _
469x174

(A) 295 (B) 643

©€) 2 (D) 4

RO 3 e SRt o S-S F
TTIAT W, wvor, Fmor, e SATeT,
3R & weiftr e forsanfed e € 7

(A) TR = W

B) T ey @it

(©) fira, Sran weor 3R ST AfAfd
(D) T

efemn % sl e § geige wia
g s 7

(A) TSI G

(B) TN RS -

(C) T fRsiaa

(D) T~ TR f®

(B) fe&r grd
(D) fewmam
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51. According to the Haryana Panchayati
Raj Act, 1994, the Sarpanch of the Gram
Panchayat is elected through
(A) Absentee Voting
(B) Show of Hands
(C) Secret Ballot
(D) Open Ballot

52. Find the sum of prime numbers lying
between 60 and 75.

(A) 211
(C) 199

(B) 272
(D) 201

53. Replace the question mark (?) with
correct alternative.

37 ll 2
>
(A) 48
(C) 50

(B) 47

(D) 49
54. A rocket whose initial mass is 850 kg
consumes fuel at the rate 2.3 kgs™. The
speed of the exhaust gases relative to the
rocket engine is 2800 ms™'. What thrust
does the rocket engine provide ?

(A) 5.47x10°N

(B) 6440 N

(C) 1217 N

(D) 7400N

55. This is an instrument with only a single

string which is attached to a piece of
bamboo. What is the instrument called ?

(A) Been (B) Khanjari
(C) Sarangi (D) Ektara

iiiiiiiiiiiiiiiiii

52.

-10-

51.

53-

54.

55.

INDIRESULTE
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(D) q&nﬂ?l'q’ﬁ :
60 30 75 % i & TS HEAI3T 1 4
T &L | |
(A) 211 (B) 272

C) 199 (D) 201 |

e () F wel freed gry gfaeenfia
codl

37
26

(A) 48
(C) 50

(B) 47
(D) 49

T e Rt i Zerr 850 kg 2,

2.3 kgs™ A o o @A AT R | e
5 % T Pl 6t <t TR 2800 ms-

2 | ke S T Woite ermra 2 7
(A) 5.47 x 105N

(B) 6440 N

(C) 1217N

(D) 7400 N

19 % T g | IS TF aR ATl sl

JATNE | AR TS 7

(A) = (B) wwilt

(©) wrh (D) AT
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56. The philosophical study of the nature,

origin and limits of human knowledge is
called

(A) Enology
(B) Ethology
(C) Endemology

(D) Epistemology

57. Which of the following National Highways
that pass through Haryana, connects Delhi
and Fazilka in Punjab ?

(A) NH10 (B) NHS8
(C) NH2 (D) NH 65

58. Which one of the following is not a
composition of the King Harshavardhana ?
(A) Priyadarshika (B) Kadambari

(©)

In MS Excel, , a text
function is useful for combining values
from different cells into a single cell.

(A) ADD (B) MERGE
(C) CONCATENATE (D) SUM

Nagananda (D) Ratnavali

59.

60. Of the species O,, O3, 05,05, which

would have the shortest bond length ?
(A) B) 03
(©) D) G,

02
0;

61. Find the lowest common multiple of 24, 36

and 40.
(A) 360
(C) 120

(B) 480
(D) 240

If EXAMINATION could be given the code
number 125, what code number can be
given to HARDWORK ?

(A) 68 (B)

62.

98

g 9/2019 (1) (E1)
(#) WoiResuLTe
56. T T 1 T, I AR Hmrl H
YR STERH Fear e |
(A) g
(B) 3HIeistt
(C) USHISH
(D) TftRHIEIS

57. Frefifad i & SH-a1 U T e
3 Bt e 2, Rt ot de A ol
Frslears ?

(A) NH 10 (B) NH8
(C) NH2 (D) NH65

sg. freffad i & HH-dt TSI guae h T
TR
A freffe  (B) e
(C) mTHE (D) TerEc!

50. TUH.UH.UHAA H, | Ueh ORE
Gy 2, e T & Al o T A G
F0 A I R |
(A) ADD (B) MERGE

(C) CONCATENATE (D) SUM

60. 0, 05 0, 02 # & form witefist <At arriey
o we@ B Bt 7

A) O, (B) OF
©) O: D) O,
61. 24,36 N 40 I ATH FHIT T1dl X |
(A) 360 (B) 480
(C) 120 (D) 240
62.

gf EXAMINATION & e &1 12591 8,
@ HARDWORK il 3 G #91 <t

°(C) 521 (D)

%INDIRESULTE
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258

-11-

T Gehatl & 7
(A) 68 () 98
(C) 521 (D) 258

indiresult.in whatsapp - 9352018749G



1
ﬁ indiresult.in whatsapp - 9352018749
63. Find the value of x.

1L E
4 X
A) 44 (B) 308
(C) 28 (D) 77

64. ‘Acquisition of Land' is mentioned in which

Section of Haryana Panchayati Raj Act,
1994 ?

(A) Section255 (B) Section 256
(C) Section253 (D) Section 254

65. Where is the Ancient Gumbad monument
situated in Haryana ?
(A) Mewat (B)
(C) Kaithal (D)

If one-third of one-fourth of a number is
15, then three-tenth of that number is

(A) 45 (B) 54

(C) 35 (D) 36

Who appoints the members of Haryana
Public Service Commission ?

(A) Chief Minister of State

(B) President

(C)
(D)

Palwal
Bhiwani

66.
67.

Prime Minister
Governor

68, The first battle of Panipat happened in
the year
(B)

(A) 1529
(C) 1526 (D)
Complete the analogy,

Thermometer : Degree : : Clock : ?

(A) Hour (B) Velocity

(C) Tower (D) Height
When was th issi
S ChgiShah Commission set up

‘nairmanship of Justice
J. C. Shah in 23 i i
thels repont 5 April, 1966 submitted

(A) 31 May,

1536
1532

69,

70.

1966 (B) 28 July, 1966

gc:) 15 July, 1966 (D) 30 June, 1966
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(A) 44 (B) 308

(C) 28 (D) 77

gfToT e O AftifaTm, 1994 i R
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(A) ©TT 255 (B) T 256

(C) ©mT253 (D) &mr254

YTl T SRR gRETT # el fera @ 7

(A) [T (B) YeEd

(C) ke (D) fiar
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(A) 45

63.

64.

65.

66.

(B) 54
(C) 35 (D) 36

7. T e st 3w 41 A
I LT R ? ‘
(A) TS 1 qegwsh .
(B) Trgufy ]
(C) wymm= |
(D) TS 4

L o 3 ger |
(A) 152 (B) 1536 '
©) 1526 (D) 1532

69, WN%QI
errrhna;;%m::m:?
m B) 3
. 9% ©) et

70- 23 31w, 1966 5 o=
ST 3 1y It e, e
et Ty 2 WS 371y 3 awmsrﬁ'%fﬁ'q”“‘
(A
(C; ?; %, 1966 (B) 28 1966

1966 (D) 3o, 1966
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7. Who was the first Governor of Haryana ?

(A) G.D. Tapase

(B) B.N. Chakraborty
(C) R.s. Narula
(D)

D Dharma Vira

72. At Present, the ratio between the ages of
Arun and Deepak is 4 - 3. After 6 years,

Arun’s age will be 26 years, What is the
age of Deepak at present ?

(B)
(D)

(A) 1 9% years

21 years
© 12 years

15 years
73.  Which Article

P€ople of |ng;
linguistic
diversities;

(A)  Article 32A

(C) Article 50 o (D) Article 51 A

74, The highest peak

Which district of Ha
(A) Panchkula
(C) Kurukshetra

‘Karoh’ g locateq in
fyana ?

(B) Nunh

(D)  Ambalg
75.

Haryang State was f
6 on the re

Committee ?

(A) Lal Bahadyr Shastrj

(B) sir Chhoty Ram

(C) Sardar

Ormed on 1t November,
commendation of Which

76.
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English Language . a @H_ao[-&ﬁaﬁ% ?
i hether there | g3, :
T R et T aror,f any, il be ) A AL (B) STIH
one part of the sentence. Mark the op aﬁm (D) gﬁ%gﬂ@ﬁ
P . wer. If 3 fea
of that part with err?(r( S)S E{gggrg"esm © of (C) o
there is no error, mark (U). : '
punctuation, if any.) _ | 8 ‘aﬂ—{r@a'&;"’[ aqTRad Td T
He is going every day for a moming wa
with hig iriegnds and neighbours. AR B) s TR
(A) foramorning Walkd i (A) T Agdl (B)
(B) with his friends and neignbours D W
(C) Heis going every day (&) W‘_ﬂf (D)
\P) “na-exma o5, Sm-fRer TuTE H IAER |
78. Choose the one word substitution for the ' B
following group of words. (A) agdlf% (B) E‘Iigﬁﬁl
Anything which destroys the effect of ©) fm (D) &8
poison. o4
(A) Seramycin  (B) Antidote 86, Tohuh TR ‘TEIEd’ | Teh SRR
(C) Serum (D) Antiseptic FEAR ?
79. Select‘ ;chg antonym of the word given in (A) TeTe T
capital letters. (B) THEW -
RECTITUDE c .
((g)) Iliiepritsalrty ED; quqf%faql SIE I.IIIEIE{ NEN|
unctuali
(C) Self-condemnation SR
(D) Deceitfulness 87. &g &5 Y et 3y L S e
Direction (Q. No. 80 and 81) : Fill in the blanks (A) e (B) #HIH
with appropriate words. (C) ﬁm (D) - -
80. Do not our voice here; thi . & .
is a library. i TEe] B R %W%
A) i B A :
© res D) raie A T (B i
(C) (D) raise ©) T
81. An man is sure to be successful. 89 ®W St © ©) J e
(A) industrious (B) indestrious ' q&hq HTehd ﬁ?ﬂ
(C) industrus (D) indistrious =i i SIS 3 #
'— FEdd s |
82. Choose the correct synonym of the word (A) =g
underlined in the following sentence from (©) (B) forceft
the alternatives given below it. SRse) ©) =THA ﬁﬁ‘ﬂé‘f
He saw the bewildered look on my face. 9. Iy e
, (A) Sad (B) Baffled A VIR § 7
J‘ (C) Pleasant (D) Happy (C) GG i
) [
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